1A RS

RNEY

PRI7N 8 B E B

g3

YETIEIE \

B ERIREEE

iR

TRERIZR AR R IRIERNEY B R SRR IRIBAR _E AVHE SR AR EhRAY B & A B IR0E -
RTBEMA~M40 & A AIEERE

TR

EZIZIERNEY R¥%-m15-355

815-354 TnAIXK



R IRE

RERE

AAREER
g ‘
BN
FEEIZE m—
|
| #d| 4D
B {i:mm
58
il
M m D d L t T kg

RN 4 M4X0.5 M2.6 11.5 8 5 2.7 10 0.003
RN 5 M5 X 0.5 M2.6 135 9 5) 2.7 11 0.004
RN 6 M6 X 0.75 M3 14.5 10 5 2.7 12 0.005
RN 8 M8 X1 M3 17 13 6.5 4 14 0.008
RN 10 M10X1 M3 20 15 8 5.5 16 0.013
RN 12 M12 X1 M3 22 17 8 515 19 0.014
RN 15 M15X1 M3 25 21 8 4.5 22 0.017
RN 17 M17X1 M4 30 25 13 9 24 0.042
RN 20 M20 X1 M4 35 26 11 7 30 0.048
RN 25 M25X1.5 M5 43 33 15 10 35 0.096
RN 30 M30X1.5 M6 48 39 20 14 40 0.145
RN 35 M35X1.5 M8 60 46 21 14 50 0.261
RN 40 M40X1.5 M8 63 51 25 18 50 0.304

A1 315-355

/

. H ST Y





